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1. (a) $implify the followirtg'

' Yar! - 112 t:a, ,rrq;;;t
.I4-- (u2 - 3u) (Y - 3)

,1,1 liolte rhe follouin:' eqratrons

.L I J"+Ji 

- 
--_- /0'J+1 x-l

ii Ss 'l3Y = 32

4x* 4Y = 32



2 {r:,) tirirrC the coordinates of t'he

lines 3xr+g = 2 and 3c-l5V

i t 1 ird 'he roord narao of a |oint

PoinL of '{B uh!'64 r\ u:L(i 'n 
is

,rf A is (-2' 8)'

.c) Solve the followiug DYBteln of

poi[t of intersection of two

B such that C is the middle

3s4a = 2 afld the coordinate

(, Llin(i th€ turniqi poilrt of bhe graph u = 2s2+3t+l Determine

whether ihe tumiog point is maximum or midmum

3. (a) lhat <1o you nLean by a ultit mat x?

l[,,r,,ut" J'o"' answer witli three exarnples'

(b) Fjn.l the inverse mabrix of

fl;:l
Io , t i
equaiioos bY using ma-tdx

4s--y+z

211-A-z

r-l4A+z

\Vhat do You m€a,n bJ' thc terms

Data'?

algebra.

11

7

12

+. (u) 'Discrete Data' and 'Conti[uous



t.

t.b) Fincl the Mean, MediarL, Mode, Standad Deviation and Variaoce

{or the following distribul,ion.

5. l$ e.reni, has three possibilities

tr, .ll ancL C . Their !,robabiiitles are

-l'h1ee irails wexe tal.en Place

(i) 1A, 18, ancl 1C

(iii) 2.4, 10

(v) B,2t)

(vii) B, A, and C in order

'--, in a trail outcome/rrame]Y

207a, 30% and 50% respectively.

(iD 2A

(iv) 38

(vi) at least one A

(viii) not having C

(ai \\liie down the sample space for the outcome of the three trails

(b. beterlninelh''1,r,-r5abi itrofthe following outcomes ol three lrails:

{


